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Sl - List of Answer key change questions:

Earlier Final

Sr.No | Question with Options declared Answer

answer by Key
agency

1 poodRFFaadcs? B A B&C
A. 2
B.3
C.4
D.8

2 | gdi gl o1 faema s & & forg sy A gan g 2 C B&C
A. SIS

B. ANTYT

c. srefmmTeht
D. &Y

3 |[FoffeaddeR-Taam e g ? B B&C
A. B
B. ]
C. T
D. HaSl




Replace the question mark with an option that follows the same
logic applied in the first pair. 29:18::39: ?

A.27

B. 28

C.29

D. 30

A& B

STH Y DI-NT et '3’ PISABTN ek & 2
A. 3%

B. dgdl

c. fawgy

D.UslS

A&C

Consider the following :

Assertion (A): All human rights are universal, indivisible and
interdependent ; and interrelated.

Reasoning (R) : The World Conference on Human Rights in 1993
asserted the same.

A. Aisright and R is wrong

B. Ais wrong and R is right.

C. Both A and R are right and R is not the correct explanation of A.

D. Both A and R are right and R is the correct explanation of A.

Which of the following Vitamin deficiencies causes Anaemia to
humans?

A. Vitamin B1

B. Vitamin B12

C. Vitamin B6

D. Vitamin B2

B&,C

Driving as an offence involves driving on any public way in a
manner so as to endanger human life.

A. Rash or negligent

B. Rash only

C. Negligent only

D. Rash as well as negligent

A B C&

TEE! B I 399 ¥ [y 3rcfpR § gl & 2
A. 9US
B. 3T

C. Y[y
D. dehifad

10

79 9 {5 Iotac X9 a1 ALRRE H ped ¢ ?
A. YR
B. B

C.dqd
D. Hfad

A& D




EF

Identify the relationship between the following statements.

A) Land Revenue is derived chiefly by imposition of tax on land

B) In essence, land revenue is a tax levied on the product obtained
from the land,

A. A and B are true. B is not the correct explanation of A

B. A and B are true. B is the correct explanation of A

C. Ais true and B is false

D.Bis true and A is false

12

Replace the question mark with an option that follows the same
logic applied in the first pair 74:29::63: ?

A.19

B. 20

C. 18

D.17

A& C

In this question, a passage is given followed by a statement. Read
the passage carefully and judge the statement based on the given
passage.

A woman in Brazil who received a womb transplanted from a
deceased donor has given birth to a baby girl in the first successful
case of its kind, doctors reported. It comes after 10 previously
known cases of uterus transplants from deceased donors - in the
United States, the Czech Republic and Turkey - failed to produce a
live birth. “The numbers of people willing and committed to donate
organs upon their own deaths are far larger than those of live
donors, offering a much wider potential donor population,”
Ejzenberg said in a statement about the results. She added,
however, that the outcomes and effects of womb donations from
live and deceased donors have yet to be compared, and said the
technique could still be refined and optimised.

Statement: World's first baby is born via womb transplant from dead

donor in Brazil.

Choose the appropriate one from the following options
A -The statement is definitely true

B -The statement is probably true

C -The statement is cannot be determined

D -The statement is definitely false

A A

B.B

CuC

D.D

14

Lichen is an example of type of relationship.
A. Commensalism

B. Mutualism

C. Amensalism

D. Predatism

A& B




has launched the India-Russia Joint Technology cC&bD
. Assessment and Accelerated Commercialization Programme.
A. NITI Aayog
B. Ministry of Foreign affairs
C. Department of Science and Technology
D. Foundation for Assistance to Small Innovative Enterprises (FASIE)
16 | Solidarity and Stability' deal was signed by which of the following B&D
organisations?
A. Shangai Cooperation Organisation
B. BRICS
C. Indian Ocean Rim Association
D. Gulf Cooperation Council
17 | The presence of any solid, liquid or gaseous substance that tends to A& B
pollute the environment is called
A. Environment pollution
B. Environmental pollutant
C. Air pollution
D. Water pollution
18 | Who introduced the Zamindari system? A
A. Lord Cornwallis
B. Lord Wellesley
C. Lord Minto
D. William Bentinck
19 | No detention order under the National Security Act must be in force B&,C
for more than days if the State Government does not
approve the same.
A. 10
B. 20
g..12
D.7
20 | Replace the question mark with an option that follows the same A& C
logic applied in the first pair.
Tangible : Immaterial :: Oblivious : ??
A. Sensible
B. Ignorant
C. Aware
D. Insensible
21 | Replace the question mark with an option that follows the same A& C
logic applied in the first pair. 57:11::99: ?
A.17
B.71
C.18
D. 20




A. Pangaea

B. Panthalassa

C. Falkland Island

D. Continental Margin

What was the supercontinent which meant 'All the Earth' called? A

A&, B

23 | Replace the question mark with an option that follows the same B

logic applied in the first pair.
SECURE : GUARD :: PANIC : ??
A. COURAGE

B. ANXIETY

C. TROUBLE

D. CALM

B& C

ﬁﬁ%%%wﬁﬁ%mﬁﬂqﬁaﬁqqﬁm? A
A. YAPIfeds =g &
B. Hidw&iferes =g 3
C. IdTFPI®S =g §
D. Y& Tu §

ﬁﬁmwwﬁaaa%_{mﬁ'%maﬁqmm C
T §3HT?

A. ST AT
la.lﬁfa?ﬂm

C. 916 ST RepR
| D. IUIS R&HR

A& C

Which of the following protocols aims to phase out A
hydrofluorocarbons?
A. Montreal Protocol
B. Kyoto Protocol

C. Cartagena Protocol
D. Nagoya Protocol

’26

A& B

27

Which country has joined Global Partnership on Artificial Intelligence B
(GPAI) as a founding member?

A. China

B. India

C. Russia

D. UsA

B& D

Tt HTST T 30 G 19 7 27 A
A. \TTeft
B. QYT

C.UIpd
D. TES




. 2 mgaiaimWﬁng? c B&C |
@ |ATR

B. ¥id

C. YR
D. J%

30 | The indicators that may be marked for visible outline of the road is C AC&D
called as

A. Roadway indicator
B. Roadway line

C. Roadway delineator
D. Roadway marking

31 | Replace the question mark with an option that follows the same A A& D
logic applied in the first pair. 24:18::72: ?

A 27

B. 28

C. 29

D. 30

32 ﬁﬁﬁ'@qwﬁ'émmww%ﬁ c A& C
A. 3R
B. §HI
C. 3F

D. 339

33 | India attended a Senior Officials Meeting (SOM) of BIMSTEC under D AC& D
the chairmanship of which country?

A. Bangladesh

B. Bhutan

C. Nepal

D. Sri Lanka

Directions: Study the following line graph and answer the questions B C
based on it.

The line graph represents ratio of Imports and Exports of two
companies A and B over the years.

In how many years, the import is more than the export of Company
B?




35

2000 2001 2082 2003 2004

L g £

A. 2
B.4
C.3

LE!

STHYSH-TII e Hiaaies
A. BTl

B. 3qIdll

C. 9B

D. §GRT

A& C

36

The latest changes to the land acquisition law in India was brought
intheyear

A. 2012

B. 2013

C. 2015

D. 2020

37

wﬁ%ﬁm%wﬂmmmﬁ?
A. TR
B. B8
c.9rd
D. Ulg

A& D

38

TTH ¥ D91 Weq gAY sgaa A vgad ST 2
A. THER

B. TTOT

C. AR

D. HTHYU[

A& B

39

The Public interest Litigation relating to environmental issues can be
filed by invoking which of the following Articles of the Constitution
of India?

A. Article 14

B. Article 48A

C. Article 21
D. Article 51

B&C |




Which of the following has high compressibility?
A. Solid

B. Liquid

C. Plasma

D. Gases

41

42

H el & 378 Q@ Bi-a gu B
A. FHYRY

B. 3GIIYTG

C. Sgsiife

D. dJey

A& C

First Portuguese factory was established in
A. Bombay

B. Goa

C. Kochi

D. Calicut

C&D

43

Which of these nutrients is the main energy source for the body/
human diet?

A. B Complex Vitamins

B. Carbohydrates

C. Fats

D. Fiber

B&C

Replace the question mark with an option that follows the same
logic applied in the first pair. 852:1::952: ?

A 2

B.3

C.4

D.5

A&B

45

The process of applying the scientific and analytic techniques of
computer parts in the tracking of digital evidence is called as

A. Network forensics
B. Computer forensics
C. Disk forensics

D. Data Forensics

B&D

46

Reciprocal Provision of Supplies and Services Agreement has been
signed by India and which of the following countries?

A. China

B. Indonesia

C.Us

D. Japan

C&D

47

The grass is rich in which of the following substances?
A. Starch

B. Carbohydrates

C. Cellulose

D. Chlorophyli e

B&C

ey



o

B&DW

=

51

Driving without insurance is charged with fine of Rupees

as per the new traffic rules under the Motor Vehicles (Amendment)
Act 2019.

A. 2000

B. 10000

C. 5000

A&D

D. 4000
#he crime where, the Internet stalkers who would attempt to trick
' you into downloading and putting in a malware-infected file that
may grant them access to your webcam, is known as
A. Online harassment
B. Cyber Terrorism
C. Cyber spamming
D. Cyber stalking

A&D

aﬁwmwmﬁaﬁmgﬁm
%ﬁaﬁﬁaqﬁawmmﬁﬁaﬁ%@ﬁﬁmwéim
X B 19SS W el TR are, GUaTe, TR- A &1
Wwﬁm,w—afw,mmﬁeﬁt@ﬁ
FE 3 TN R1efl, Fe, RORFT ot 3R 1979 % w1
@‘eﬁﬂwﬁmwmmmﬁﬁawaamwwwﬂ$
P B PR BT & et vl & ol § oy iy w7
A S 81 g afe a8t oroa o &) prereragdes awar & ol
STPE A FEH 61§ o 9 &1 SR 36 IRIG & B G Bt
m%@mmﬁﬁaﬁm%wmm@a‘fm
ﬁmﬂﬁwawmﬁﬁﬁﬁaﬁwma@maﬁ
WP &7 a1 H UE HEeaqyl Y &, afer e ol B & ol &
ufd T YTg 3R Srfyue | ureffar

R F o & & - aef B

A. 3PE

B. SPTIH

C. SPHIR

D. =3[

52

In this question, a statement is given followed by two conclusions
numbered i and ii. You have to assume everything in the statement
to be true, then consider the two conclusions together and decide
which of them logically follows beyond a reasonable doubt from the

| >

9 \y/



53

information given in the statement.
Statement:

Vinod is a good cricketer.
Conclusion:

i) Vinod bats well.

i) Vinod plays other sports too.
Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or i follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

A A

B.B

C.€

D.D

Maintenance of cash book in a Police Station is a duty of which of
the following officers?

A. Head Constables

B. Police Constable

C. Assistant Sub-Inspector

D. The Inspector General of Police

A&C

&dl & = % &1 Wi 598 @ el arares
A. 9T g9 &

B. UTHINY Hfgwy §f

C. 9T ya H

D. i yg #

C&D

F

Replace the question mark with an option that follows the same
logic applied in the first pair.

BE: 35:: DF:??

A. 50

B. 80

C.90

D. 120

A&D

sl

When a person is convicted at one trial of two or more offences, the
Court may sentence him for such offences,

A. To the lowest punishment prescribed therefor

B. To only the highest punishment prescribed therefor

C. To the several punishments prescribed therefor

D. To only one of the punishments prescribed therefor

B&C

L

G

10



57

T ¥ HIaRS T ST 2>
A TR

B. §aaia

C. afezrar

D. &R

58

IS 1 fAef Xeq DI-TT 21T
A.3H

B. T

C. USlT

D. THTUfe

A, B&C

59

Replace the question mark with an option that follows the same
logic applied in the first pair.

222:30::524: ?

A 75

B. 55

C.60

D.70

B&D

11



Sl - List of Cancelled Questions:

Earlier .
Final
Question with Options P aed Answer
answer by
Key
agency
Y H SH-AI UG § 2
A 3 _
B. 1Y c Question
Cancelled
C. 31g
D.g
| Which of the following numbers in the Venn Diagram represents
lions and tigers but not leopards?
D Z\— uons
[ Z8N) o |
| 5 ‘—‘ — ELEPHANTS B Question
e O— noexs Cancelled
e
A
\ C.8
D.6
If a foreign national uses an Indian server to publish the
‘ pornographic content, he may be punishable under the
3 A. Cyber law of the Foreign national 8 Question
( B. Cyber Law in India Cancelled
, C.Both Aand B
D. Neither A nor B
| Mr.Jonson invested Rs.19,500 divided into two different schemes A
and B at simple interest rate of 15% and 12.5% respectively. If the
total amount of the simple interest earned in 2 years is Rs.6125,
( A What was the amount invested in scheme A. (InRs.) B Question
A. 24000 Cancelled
' B. 25000
C. 26000
‘ D. 27000
T Which country has recently assumed the Chairmanship of the
Governing Body of International Labour Organization(ILO)?
( 5 A. Australia c Question
B. Pakistan Cancelled
L C. India
D. China

vl
” %
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szsﬁrﬂr%mwmﬂwwsﬁ'ﬁ@mﬁﬁmmm

A. BITd §U 3T PI- A fHYR Taa
B. X8 R Y. H1efTy fifg

C. IR B 3T §- Tgeidr Saard
D. ¥R 3TeH- FHg Ul

Question
Cancelled

When does Kohat Riots took place?
A. 17th September 1924

B. 17th October 1947

C. 17th November 1950

D. 26th January 1950

Question
Cancelled

—

The Motor Vehicles (Amendment) Act 2019 has amended most of
the penal provisions of the original Act which was enacted in the
year

A. 1989

B. 1990

C. 1991

D. 1992

Question
Cancelled

10

The land revenue collected from the cultivator is known
as ;

A. Zamindari settlement

B. Mahalwari settlement

C. Ryotwari settlement

D. Permanent Taxing system

Question
Cancelled

IS QDR & oL et fopalt w13 & wife 1 SR

foar S
A. 25
B. 16
C.18
D. 22

Question
Cancelled

[11

Who was first governor of Uttar Pradesh after Independence?
A. Justice Shri B. B. Malik

B. Smt. Sarojini Naidu

C. Shri Bishwanath Das

D. Shri Akbar Ali Khan

Question
Cancelled

12

In what name Facebook was originally launched?
A. Facetag

B. Facebook

C. The Facemask

D. The Facebook

Question
Cancelled

13



. [ THPH 81 7' 5 a1 & o T 7 v o

®.

A. UHETE® qa=Tq
B. Fomare gdam
¢. Fygams gdam
D. HeYaTa® Ty

Question
Cancelled

14

'%Wﬁﬁ!qmwm%rqm@mwaqm@
T B 1 B-Ae e,

A. FeRTET

B. S%a9T

C. gYdfaeeT

D. el

Question
Cancelled

In which of the following multilateral banks, all the stakeholders

15

16

have a equal initial subscription share?
A. Asian Development bank

B. New Development Bank

C. Asian Infrastructure Investment Bank
D. Reserve Bank of India

Question
Cancelled

Which of the following is the main objective of 'NMDFC'?

A. To promote Education among Underprivileged

B. To provide health & maternity benefits to backward sections

C. Central Assistance to help in recruitment and posting for weaker
sections

D. Promoting Economic Activities amongst the backward sections

Question
Cancelled

17

What are the main sources of land revenue?
A) Agricultural Land Tax

B) Water Tax

C) Non-agricultural land assessment.

A A

B.B

C.6

D.A,BandC

Question
Cancelled

18

| The H.C.F. of the two numbers is 31 and the other two divisors of
their Least Common Multiple are 18 and 21. Find the smallest
number among them.

A. 368

B. 240

C. 464

D. 558

Question
Cancelled

19

The Measurement of land for correct boundaries in a city is done
by ;

A. Law enforcement officers

B. City survey officers

C. Municipality officers

Question
Cancelled

| D. Land Acquisition officers =)

14 W




If the average height of first 21 telecom towers is 276 m and that of
last 21 telecom towers is 276 m, then what is the height of 22th
telecom tower?

A. 266

B. 276

C. 286

D. 296

Question
Cancelled

21

TU BT UG & -9 82
A.

B. Gafar

C. TRER

D. XTgTdlq

Question
Cancelled

22

%ﬁﬁﬁv%&wm%m@qﬁ?
A. B

B. HeWIGiIoTs
C. A3
D. Ridheaid:

Question
Cancelled

23

Which Nations signed an agreement for “Bringing Peace to
Afghanistan”?

A. US and Iran

B. US and Taliban

C. Iran and Taliban

D. US and Russia

Question
Cancelled

Use of handheld device is permitted for without distraction
to the driver.

A. attending calls

B. Texting

C. Listening to music

D. Navigation

Question
Cancelled

25

LARR Act provides for affected family displaced from the acquired
land is also entitled to a subsistence allowance of Rs. per
month for 12 months.

A. 1000

B. 2000

C. 3000

D. 5000

Question
Cancelled

26

The act committed by the bank employees for unjust enrichment is
called as

A. Interloper fraud

B. Scanning fraud

C. Pharming fraud

D. Phishing fraud

Question
Cancelled

27

'mw'm$m%%mwm§am
A. BERATY Rig
8. RS FoR TmR

Question
Cancelled

C. YHdR YR
D. $IRARTI (&
15




During the initial stages of human civilization, a given extent of land
used for agricultural purposes was named as

A. Eminent domain Question
28 :
B. Village Cancelled
C. Escheat
D. Forest land
The minimum age required for a person to drive a motorbike
without a gear is
29 A. 16 years Question
B. 18 years Cancelled
C. 20 years
D. 21 years
Which of the following does not include International Bill of Rights?
A. Universal Declaration of Human Rights
30 B. International Covenant on Civil and Political Rights Question
C. International Convention on the Elimination of All forms of Cancelled
Discriminations against Women
D. International Covenant on Economic, Social and Cultural Rights
Which of the following incomes are taxable in India?
A) Resident and ordinarily resident
B) Resident but not ordinary resident
31 C) Non-Resident Question
A.AandB Cancelled
B.Aand C
C.BandC
L D.A,BandC
Which of the following cases was in reference to basic right to
education?
37 A. Vincent v. Union of India Question
B. Mohini Jain v. Unni Krishnan Cancelled
| C. PUDR v. Union of India
[ D. Minerva Mills v. Union of India3333
Find the total surface area of cone whose radius is 12 cm and slant
height is 9 em(use 1t = 22/7 and TSA in cm2)
A. 792 Question
33 B. 782 Cancelled
C.772
D. 762
Which of these alternatives is not a device covered as a "computer
system" under the Information Technology Act, 2000?
A. Joysticks Question
34 W
B. Digital cameras Cancelled
C. Microphones
L D. Calculators

Cjé/_

16




: In a certain code language,

'178' means 'read history books";

'586' means 'they made history' and

'741' means 'read good books'.

Which of the following digits stands for 'made'?
A.5

B.7

C.6

D. Either 1 or 3

Question
Cancelled

,f
I
]

o

’37

38

WEIHIT Vg 77 Weg, WoIg o1 el [ eq a3
A. T8H, Yfa

B. &, Hfd

C. 98, 3ryfa

D. 8T, 3fgufa

Question
Cancelled

Major amendments to Information Technology Act 2000 was
introduced in the form of IT (amendment) Act in the year

A. 2008
B. 2010
C. 2015
D. 2019

Question
Cancelled

Which of the following is not a perquisite under the Income Tax Act?
A. rent-free accommodation

B. accommodation based on concession in rent

C. Guest house facility

D. Free club facility

Question
Cancelled

39

%ﬁw%mﬁmmﬂ%@mmuﬁwﬁmw%
a R
B. gasfq

C. A HI R
D. g

Question
Cancelled

40
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c. e s Erre F ey § 8

D. ifereh afva=r quferan uRaffa & gwr 2| o

Question
Cancelled
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‘J A6 A Question

‘ B.8 Cancelled

| C.10

’ D. 12 %
Environmental laboratories may be established under the provisions
of the Environment (Protection) Act, 1986 by :

| A. The State Governments B Question
B. The Central Government Cancelled

Uttar Pradesh sends members to its Legislative |
Assembly.
A. 404

Question
B. 304 & Cancelled
C. 340
D. 540

A number divided by 9, 14 and16 leaves a remainder 10. Find the
remainder when the same number divided by 11.

C. International NGOs
D. National NGOs functioning in the field of environment

B UsA ¥ é‘f&féﬁ
C. Pakistan
D. China |

Which of the following has formally left the Paris Agreement?
A. UK
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